CONCEPTUAL ToOOLS By: Neil E. Cotter RLC CIrcuITS
C (CAPACITOR) EQUATIONS

Energy stored
EXAMPLE 1

EXx:

50 pA D 120 kQZ
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Calculate the energy stored on the capacitor at r = 0.
Sol.'n-. En erqy Wa = 1rc v;(—t =O+)
2

Since c_:qpqdi:l:or voH:qge Canhot
clf\a.nje instantly | va(0%) = Ve (0-).

At £=0, C acts Ulike open circuit
and  switeh 8 closed.
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The short created by the switeh
¢reates a voL—t:c\ﬂe \oop on top
\left with 0OV adross <€ and across
the 20KSL resistor.

Thus ve(07) =0V = va (0%).

oy Wd (O+) = O :T

Nete- The unts For energy are Joules.



